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Instruction | 3288 | 3%BA

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
TEARMCE) B 2 AR > 35 A 2B B e 3 1 -
TEARWCE W55 LI 7R AT > 16 APt -
2. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
iE A — BRSNS E H A EIEREE R
X EARE2SE R W FEEEH A — A IEWRE S -

3. Mark your answer to each problem on the answer sheet with a pencil. Check blackened answers for accuracy
and erase errors completely. Only answers that are properly marked on the answer sheet will be scored..

R RE R H PR S SRR AE S R b R B A R R IR (R T PR R > RIS 5E
EEREBINE R o WAREERGEEL E R LG RA YD -
TR H A R AT EAREAEERR L o ETE R A RS B R G R T EaaE » AR 52
EEEERINER - ARSI EELT SR LNERA SWEED -

4. Every question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

TEE H AL ER D » BEE BRI > BEEZEAR0 - ARHEHI 7510053 ©
TR H AL E M E o R XA 2 > B ZE BAR05) o AR I 23 910053 ©

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

SR RRRAR ~ TTHEAR ~ R~ BAGHMRBAERmE TR  sHEG—ARFEMR o WEHIR
A ATATT R RE DA JH T BT B2

SR RRRAR ~ AR ~ R~ BAGHRBAE AR TR o itHHEG—ARFENR o Wtk
A ATAR] ] REDA A0 AT T B

Figures are not necessarily drawn to scale.

] T AN — S 4% LU 5] A 4L

EIEA— gLl 2l

Before beginning the test, make sure to write the Competition Code “Benjamin”, your name and Competition
ID with your signature on the answer sheet, especially to bubble in the 9-digit Competition ID completely!

TEFAUG B AT » E R A BT A Benjamin” » 1k 2 FIES B SUHE FE A R LARER 4 4
B JEORLHE 78 5% 1 5 AL 7 DA I AR R SR RT3
TETFARIIRZ | - 1B OR C A SE 38 Y Benjamin” » REZFIMESIE S G IR B EIE4 o HF
AR -5 (0 45 AL AU CRURIFAH B R TT B -

. You will have 75 minutes to complete the test once your proctor tells you to begin.
B A EAT R IR - VR AT S 43 8 Y IR ) 5 FRGHI At o
W I EAT I IRIG > UK TS5 PP I ) 58 it -
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2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

‘ Part 1: 8 problems, 3 points each
|E—#hs: 8B, SW3H | £—54%: 8MHE, 5H3 5

1. What is the value of the below expression?
AT A& XA~ S Je

AT REXNERS F?

(20 4 25) x (20 4+ 25) = (240 +2 +5)

(A) 20 (B) 25 (©) 200 (D) 225 (E) 250
[Proposed by Sweden | #3428 | 5 324434 |

2. Anna has built a wall that displays the year 2025. Bella stands on the other side of the
wall. What does Bella see?

Anna ##& 7 —@¥, L@ET T 4 2025 . Bella sba ¥4 % —1al. B Bella & #) 69 2 4+
J&?

Anna #:2 7 —@¥t, L@ 25T 44 2025. Bella sk£349 % —Mm. 19 Bella & %) 49 2 4+

47?
~eb088 2805 G052
-~ Sel08 5208

[ Proposed by Denmark | #4438 | &4 A |

3. Mike has a leaflet with numbers and holes in the flaps on both sides, as shown in the
picture. He folds the right flap along the dotted line and sees the numbers 2, 3, 5 and 6
through the holes. Then he folds the left flap along the other dotted line. What is the sum

of the numbers he sees now?

Yo B Bf~, Mike A — AT, L@ ipAEFFe @R a L E A . A5 F R I8 AR 6
Wz, ZBILTAAEINEF2, 3,5, 6. REMLER —GERIFTBARGIE. MR
EREIN B FHEFR S J?
4o B B, Mike  — A MF, E@FA R FFAMFILOEME. 5 FELXIT ELMEG
WE, FHILTRERHKF2, 3,5, 6. REWLER —FRENBAMGIE. P
ERAEINGEFHERRS VP

042 ]
003578 00
Osl1le O]
(A) 8 (B) 9 (© 10 (D) 12 (E) 14

[Proposed by Tunisia | % A4 | R |
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2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

4. A recipe requires 1 cup of rice and 1% cups of water. Rouen wants to use 1% cups of rice.

How many cups of water does he need?

— R EE LA kA 1L ARk, Rouen 288 11 7k, MALE Z4A7K?

— R HEE B 1 A 1L K. Rouen B 11 4-k. MALE 2 ILMAK?

(A) 1 (B) 13 © 13 (D) 2; (E) 23

[Proposed by Germany | & E 44 | i& E AL |

5. The picture below shows five wheels of fortune. Each wheel is divided into a different
number of identical parts. You will win a prize when the wheel is spun and then stops
with the triangle above the wheel pointing to a part that is shaded. Which wheel gives

you the best chance of winning?

TEHTFT LA FEHE. SFEBEESAE TRMF GRS, F e P15 00, 4o
REZABE @K ZEH Ry, WG RTES. PIRESELSIREITRTER R E?

THARTTEANFEHE. HEMNEEMY RE THRMRAGRS . S5 A5 00, do
REZABBOHEZAYRS, RFESMMFES. FIIRAGE & AR FAT 6 AT RS La?

PR Lol RS

(A) 1 (B) 2 ) 3 (D) 4 (E) 5

[Proposed by Norway | #FSA%# | #5 s A% A |

6. A cube is decorated by gluing identical grey squares on it. All faces of the cube look the

same. How many grey squares are there in total?

R REEFTHEEE T ARG AT EEITEA. T ARG ABARSH —4. ML
A % VA& EIEFH?

R B R & A ke ok d B AT RAR . KGR @ A AR RE A, FE R
HES IV AKREEFH?

(A) 12 (B) 14 (@ 15 (D) 16 (E) 18

[Proposed by Slovakia | #fi& % B2 | A7i4 X o464 |
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2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

7. Sally’s favourite chocolate bars come in packets. Each packet used to contain five bars.
Now they contain only four but are sold at the same price. By what percentage has the

price of each bar increased?

Sally & SR8 LN etk G . LA SR AT A . REFCRAWR, 2417

AR, MERTLABGEELETE>Z S V?

Sally R &R 8975 L etk @b G . AW HOH ZRT LA . AEFCR AR, 244

E . FI RIS LRTESZ S I

(A) 10% (B) 20% (C) 25% (D) 30% (E) 50%
Proposed by Germany | f&E 4548 | /& E 44 |

8. Janaina cuts four identical squares from the corners of a square sheet of paper, as shown.
The total area she cut off is 16 cm? and the area of the cross that remains is 9 cm?2. What is

the perimeter of the cross in centimeters?

4 B P, Janaina #£ —ik Z M 4Tk 9B A1 T T wWBAAR R 69 E 5 . deIndv g8 @Ak
A16 FHER, mETHTFHOBREAIFFTER. MTEFHBORAELS VER?
o B P, Janaina M—iK Z B KRG ANA I T T OB B 69 IE 5 H . Mg & |
16 FHmEK, MPATHTFEHBREI FFTRA. MTFHGARES FRR?

(A) 9 (B) 16 © 20 (D) 25 (E) 32
[Proposed by Brazil | & @4t | & &4

‘ Part 2: 9 problems, 4 points each
(E-ms: VEER, SEAH | HoHWH: 9 EEE, BE4L 5

9. Each of the cards shown below have two 3-digit numbers written on them, but some of
the digits cannot be seen as they are covered in ink. On one of the cards, the sum of the

digits of both numbers is the same. On which card are those two numbers?

TEeART R L&A WA, PALBFREBRKEEREERFS. AL F—%kFh
b, A S B FREE. M EREBRAKRF R L?

TaROHERFRLHRAANALH, BHALERFRBREEMLERS. 2L —KFA
E, AAKK BT AoAE . XA ADRAEARF R B2

A) [211 and 6'!} B [543 and 11.] © [58'and 11.]

o (777and 208) ;. (982 and 1)
[Proposed by Greece | A BAEA | A 454 |

2025 HHHBLEBRRABR—DNEZTER 3 2025 AHBHBFRAER—DFHFAR



2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

10. Container A holds 10 litres of water. All five plugs at the bottom of container A are taken

out at the same time and the water flows out. What volume of water flows into container

B in litres?

BB ARA0FK. BB ARFOEAET RHRALBARS . MANEE B ko)
WA

& AFA 10 FtK. BE A JKIRE EANERT B PR HEKRAE . FANEE B 89K

AR A L2
| ]
|_‘ B
(A) 3 (B) 4 Q) 5 D) 6 (E) 8

[Proposed by Switzerland | 3% L8 | 3% 4R |

11. A student threw five stones, one after the other, which hit a window at the points A, B, C,
D and E. Where each stone hits the glass, it creates some linear cracks which stop either

at a previous crack or at the boundary. In which order did he throw the stones?

*Z%ﬁ*iﬁm’:%Tﬁ%Eﬁﬁ, SR b E L9 A, B, C, D, E. &3 6 @ P35
, B EA—RABHOEL, BRE R B LEZ AN RS L, 2K LASERLE.
F Hﬂ&ﬂ'ﬁ*)’lﬁ & TiB B Y

—AFERRWT BBk, 2R EFFPF L&A, B, C, D, E. 35 k&P
i, Ak A R, KRR KR E LR, RALEEDRE.
B AR LR Py T Xk s kP

(A) ABCDE (B) BDACE (C) BCDAE (D) DACBE (E) DCABE

[Proposed by Greece | 7 (/B4R | A 44 A2 |

2025 HAEBEREARFE— D EHFHL 4 2025 FHBF R BSR4
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12.

13.

14.

2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)
A bookshelf with three shelves has 17 books on the top shelf, 15 books on the middle shelf,

and 7 books on the bottom shelf. Monika wants all shelves to have the same number of
books on. She also wants to move as few books as possible. How many books should she
move from the middle shelf to the bottom shelf?

—BERA=R, LRAV AE, YRAL5 A%, TRA7 A% . Monika A 24 % L&)
FABAME, EEAZBHNENRETETRY . MUEIRTEBHXATATR?

—ANBRAEZE, LERI7 A%, vEA 15 A4, T/EAT7 A+. Monika A 2 4 & L&)
BABE, FEAEBHGHORELTR Y. FREZNT EBFILASE T E?

MERER SR ANAR

_MQDUORD JRRARD
.

(A) 2 (B) 3 © 4 (D) 5 (E) 6

[Proposed by Hong Kong | & #4488 | & #4544 |

The shapes shown below are the first three shapes of a sequence. How many dots make

up the fifth shape in the sequence?
TEHETTAIFTONEEY. MAIITHELERY G SV AEER?

TEHETTAIFHNEABY. FAEFITFOEEIANAAT G S VA ELER?

(O
() o000

() @000 00000

(O 00000 0000000

() (O 00000
() (O
()

(A) 72 (B) 74 © 76 (D) 78 (E) 80

[Proposed by Spain | % 354428 | & JEF 444 |

Sara has a bag of 18 balls, numbered from 1 to 18. What is the smallest number of balls
Sara should remove in order to guarantee that she has removed at least three balls with

prime numbers on them?

Sara A — B4 A 18 AR T, H94IHEK 1 2 18. P Sara eZ L £ VAR, 4Rk
FWE VI T %I AT By ke

Sara A —/NEA 18 ANske9 R F, o945 A1 3] 18. ¥ Sara izt % VAEK, F etk
JEHL E VB T AN 5 A R A Bk

(A) 10 (B) 11 O 12 (D) 13 (E) 14

[Proposed by Taiwan | & #4438 | & & 454

2025 HAEBEREARFE— D EHFHL 5 2025 FABFRESCF—DFRFAR



2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

15. The school’s swimming team is practising for a relay competition. Five swimmers swam
the same distance, one after the other. The pictures below show the times on their coach’s
stopwatch when each swimmer had finished their leg. The first swimmer needed 2 min-

utes and 8 seconds. Which one of the swimmers needed the least time?

SRR RIR AL A WREATIIR . ELWHREH BIRA B TR IER. TREF
THALIE B XA H TR B RA R R . S —ZE B AT 25 8 4. MM
i B B R A9 R

FRAYHE RN AL LR AT I . BALHREF RIRR G ZAARGIES. THIT
THLEF R AT B CRENEES R LR, F—ZEHRAT 245 84. Rz
B F) A & aF R e

(A) thefirst | % —{% | % —1{% (B) thesecond | # =45 | % =4%
(C) thethird | #=4% | £=1= (D) the fourth | Fwiz | Wiz

(E) the fifth | % &45 | & &l

[Proposed by Germany | & B 4428 | & E 44 |

16. The letters p,q,t,s and t represent five consecutive positive integers, though not necessar-
ily in that order. The sum of p and g is 69 and the sum of s and ¢ is 72. What is the value

of r?

FHp, q, 1, 5, tRRAERGOERER, 2R-RREBMEEF. Tk pfoqg thFR 69,
st B9 Fe 72, M r 89 R% 2

FHEp, 4, 7, 5, EREEAEGHGELEH, BX—ZHREANMAF. Shepfog 8952269,
SAt B9 Fe R 72, Pl r 9{AR % V2

(A) 29 (B) 31 (C) 34 (D) 37 (E) 39

[Proposed by United Kingdom | 3B 4528 | 3£ 24444

2025 £ AR 1P R 6 2025 FbHERALE P EHF
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2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

17. A circle with center O and radius 10 cm is given. A square OPQR is drawn inside the
circle, where Q is a point on the circle. What is the area of the shaded triangle PQR in

square centimeters?

FRAXO AHPs, 24510 2K0E. AENETHESH OPQR, 1+ Q A H Li—2.
ME# =A% POR #9@mtE L % - Fu R K2

ZRAO AFs, F2AH10RRGE. £BASESZH OPQR, L+ Q £H Lij— 5.
FI% =A% POQR 9@ % JF7uER?

(A) 125 (B) 25 (O 50 (D) 75 (E) 100

[Proposed by Iraq | & A48 | 42 o464 |

‘ Part 3: 8 problems, 5 points each

($=#49: 8EEA, W55 | £=HH: 8 EHE, BES5 )

18. Joanna divides the figure shown into five equally shaped parts, each consisting of three

squares. The square containing which letter is in the same part as the square marked with

a star?

Joanna #4 T I8 4 K AMB 4k K440 69305, B8 h 218 b Ak, MARA 2386
T SR AT IV A 7 A A ) — {8 95 42
Joanna # F B 4 R EAH RELAMAM RS, FARS G AN FHEA. FARA L5
T S ARAT IR A T A ) — N 22

A |
B Y| C
D| |E
(A) A (B) B © C (D) D (E) E

[Proposed by Hong Kong | & #4448 | &4 44 |

2025 4 it B 4 RAT— 18 B 4L 7 2025 F i HE R AR EHER
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2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

19. In the quadrilateral ABCD, the points N and K are marked on sides BC and AD respec-
tively so that BN = 2NC and AK = KD. The area of triangle CKD is 2, and the area of
triangle ABN is 6.

What is the area of quadrilateral ABCD?

%% ABCD J, 25 N = K 5] £:#% BC #= AD L, {£4F BN = 2NC # AK = KD.
=A% CKD ¢y m#x-L2, =A% ABN ¢9@mAH-2 6. MwifH ABCD ¢y @2 % e

Wi #% ABCD ¥, & N #= K 5% £ BC #= AD L, 443 BN = 2NC # AK = KD.
B4 =A% CKD @422, =A% ABN 69 @42 6. Fmii# ABCD @it % r?

B N C

(A) 13 (B) 14 © 15 (D) 16 (E) 17

[Proposed by Russia | 4% ZE S48 | 1K F A 44AL |

20. Timmy combines the three building blocks shown on the right. Which of the following

constructions could he make?
Timmy 4447 T BB 76 AR, P AR RIRAE AR R ?
Timmy 2847 T H 2785 Z 3R BT AR 4E AR A AL 2

G H oz
&y 0 G

[Proposed by Germany | & B 4:24 | 44 E 4444 |

2005 & BB BRI B FHER 8 2025 & HE R AR B E
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21.

22.

2025 HHHERABE— LI HFR 9 2025 A HAKFBRRER )

2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

Fallon never tells the truth on Tuesdays, Thursdays and Saturdays. He always tells the
truth on the other four days. One day Matteo had the following conversation with Fallon:
Matteo: “What day is today?” Fallon: ”Saturday”

Matteo: “What day will be tomorrow?” Fallon: “Wednesday”

On which day did this conversation take place?

Fallon £ 28 =, ZHw. EHAHFHALFE. AL XA RFZLFE. A —X, Matteo
¢ Fallon 47 7 VA F %35

Matteo: “4~ % % 2 #4727 Fallon: “ 2 #x”
Matteo: “Bf X 2 Z 214727 Fallon: “24#7="

MR HEH AL — R

Fallon 2 28 =—. 2w, ZHSARHALE. EL R ERZHFAE. — X, Matteo
5 Fallon #4577 A T xF4&:

Matteo: “4~% % 231 JL?” Fallon: “ 2 #1x"
Matteo: “Bf X & 2 2 JL?” Fallon: “24#3 ="

5] 3 R 2 R AR — R

(A) Monday | Z#— | ZH41— (B) Tuesday | 2= | 2=
(C) Wednesday | 281 = | ZEH = (D) Thursday | Z#ive | ZH4jve

(E) Saturday | Z#1-< | 24~

[Proposed by Argentina | FTARIEBEAE | FIARIEAEA |

Julia and her little sister Paula go out together for a bike ride. Both ride at a constant
speed: Julia at 18 km/h and Paula at 12 km/h and they follow the same path. Julia feels
tired after 20 minutes and decides to go back. When she meets Paula, Julia tells her to
turn around and both return home, each at their own speed. How many minutes later

than Julia will Paula arrive home?

Julia Fekt 694k bk Paula —A2 55 B 47 £ 900 . @ AHRANE € ik F & 4T Julia #93% B4 &) B
18 £k, Paula 4918 & A & /0¥ 12 K, WAL ZEA F 6 3AS K47 . Julia £ 20 548 4% =%
B A4S, bk A E . FiG F) Paula B, Julia 3% Paula # 5, mAVIE G /TR EE
K. M Paula bt Julia . % 'V 545 R ?

Julia Fodt 694k 4k Paula —A2 35 A 47 £ 5. & AR VA T ik B 3547 Julia 49 3% B 4 4/ B
18 &, Paula #9ik & A4 aF 12 F 5k, B AL EME 693%25547. Julia £ 20 54P /5 &
B s, kT e, L4018 %) Paula B, Julia ik Paula #: %, M AVAE& G 6935478 A
%. [ Paula rt Julia 8. % ') 548 5| £ ?

(A) 4 (B) 6 ) 8 (D) 10 (E) 15

[Proposed by Catalonia | #n &% B AL | Ao fk ¥ R EAEA |
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2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

23. Sara had three times as many chocolates as Tara. Sara then gave a quarter of her chocolates
to Tara. Sara now has six more chocolates than Tara. How many more chocolates than Tara

did Sara have originally?

Sara 4935 %, /1 3 5 % Tara #) = 1% . $Kk 1% Sara ¥ w452 —935 % H 4 7 Tara. 3.4 Sara
tb Tara % 55375 %,/ . M Sara vtk Tara % 4335 %5 ?

Sara #9735 % /5 #k = & Tara #9 =4&. #K )5 Sara ¥t 5= —6935 % 5 447 Tara. I £ Sara
tb Tara % 5~335 %,/ . ¥ Sara vtk Tara $ U335 55 ?

Q:’” -
ﬂ"”“’/ 1”%

(A) 20 (B) 24 ) 27 (D) 30 (E) 36

[Proposed by Iran | 47 BA4:R8 | 47 8444 |

24. Patricia wants to write the numbers from 1 to 9 into the squares in the diagram, with one
number in each square. She wants the sum of the numbers in any two adjacent squares
to be equal to the number shown on the line joining these squares. What is the sum of the

numbers she writes in the shaded row?

Patricia Z8#F4¢ 1 2] 9 99 RANE P89 74 ¥, 74 FRA—EER. A 2L REH
AR T A BE A F AR Z AR LB . MR SR AT P AN &
B RS2

Patricia 2 M 1 2] 9 9 HANB P AT, BATATH -, WA 244TH M
AR TR B X A F B AR LR TR, PR AR A H G IRAT P AN 5
EEa 3

(A) 16 (B) 17 (O 18 (D) 20 (E) 21

[ Proposed by Poland | 7% #4428 | & 244 |

qa
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2025 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

25. Zeta wants to buy some flowers. The prices of the three flowers she can buy are shown
in the figure below. How many different bouquets with a total cost of exactly 23 can she

buy?

Zeta 18 % — 876 . W07 oA ¥ 69 =870 60 (R Hodo T 1B 1 . 40 20 X A4 I 45 % 23 49
R, A B IREKRRG X2

Zeta A F — it W T AW E 6 ZAPIE A MAsLe T B AT 7. B3 2 0 L B MIEAT 4 23 49

xR, A% VHGIRTX?
[8h [4] [5))

(A) 4 (B) 5 ©) 6 (D) 7 (E) 8

[Proposed by Denmark | 48548 |+ £ 444 |

qa

2025 A BB PR ABRE— D EHFR 11 2025 FHEFERER—DFHFR



